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`a bc de fgh a i e jlk h k m me ma ne h k na oe fp m oe h fq p h rs tvu w tx may e k h k m ze ih k a g

f { f ne b f | da f g} f f n~ e a h b k n~ e b k na g k m � g p b j} ne h a b j me b ey nk na py k f j e g n f

• r k h k me ma� k na py p q �� k y d p n~ e h a ne h k na oe b e n~ p d f

• � mp g� da k z py k m k y d q } m m i mp g� jh e g py da na py e h f

• � oe h mk j jay z<� g ~ � k h � s s b e n~ p d f
• � py oe h zey g e k y k m { fa f

• � � p u me oe m� g ~ � k h � b e n~ p d f

• ` m ze ih k a g g py f nh } g na py f p q g p k h fe zh a d jh p i me b
• � py p oe h mk j jay z s s b e n~ p d f

• ~ k na fy p n g py fa de h e d
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• � ~ k y | �� w� |x k n~ e � | �� r� |s p b k ay s e g p b j p fa na py ` m z p h a n~ b f� ` g nk

�} b e h a g k � � �� |�� �u �� �

•� b a n~ | �� w� | � ��� h f nk d | r� t� |� h p j j | � s � |s p b k ay s e g p b j p fa na py

r k h k m me mx } m na me oe mx e n~ p d fq p h t m ma j na g r k h na k ms a� e h ey na k m t �} k na py f�

� k b ih a d ze �y a oe h fa n { rh e f f | � k b ih a d ze � � ��

• ` � � p fe m ma | � � a d m} y d |s p b k ay s e g p b j p fa na py x e n~ p d f u ` m z p h a n~ b f

k y d � ~ e p h { |� jh ay ze h � � � �
• � � � mk ~ e nk |� jlk g e de g p b j p fa na py rh e g py da na py e h f k y d r k h k m me m� p m oe h f�

�y c x � w e a f nk } e h e n k m� e d f� �} b e h a g k mx k n~ e b k na g f k y d ` d ok y g e d

` j j m� |� jh ay ze h � � � � | j j� � �u �� � t � � x ` �� � � � � ay oa ne d me g n} h e  

• � � � mk ~ e nk | � � ¡k � m | ¡� � nk h ¢ |F£ ay e k h f { ne b fp m oe h f ik fe d py f jk g e

de g p b j p fa na py f k y d jk h k m me m g p b j} nk na py f | �y ¤ey ¢h f� ¥ x e g ~ k y a � k |

� � � � � � �   | j j� � � �u � ¦�
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w p h b p de m may z p q da� e h ey n j ~ ey p b ey k k f da� } fa py e n g � |a na fy e g e f fk h { n p

fp m oe k k f { b b e nh a g e m ma j na g i p } y dk h { ok m} e jh p i me b ay Ω ma � e c

−
∑

ij

∂

∂xi

(

kij
∂u

∂xj

)

= f in Ω

u = û on Γ0 ⊂ ∂Ω
∑

ij

kij
∂u

∂xj
ni = f̂ on Γ1 ⊂ ∂Ω

s a f gh e na � k na py i { w tx me k d f n p k y k m ze ih k a g jh p i me b

Au = b

�a n~ k b k nh a« A | � ~ a g ~ a f� rs | mk h ze f g k me � da b ey fa py n ∼ 105 − 107   k y d

a m m g py da na py e d�
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• da h e g n b e n~ p d f �� k } f f e ma b ay k na py n { j e  

•a ne h k na oe b e n~ p d f u ~ a f n p h {

¬ h e mk « k na py �� k } f f | ¡k g p ia |� p } n~ � e m m  

¬ � � � �%­ p } y z � � ¦� |�® k h zk � �� �  

¬ �� �� e f ney e f |� na e q e m | £ k y g� p f | � � ¦ �  

¬ jh k g na g k m �� � � e a d � �¯ �  

¬ �£ � jh e g py da na py ay z � `« e m f fpy � �¯ � | ok y de h ® p h f n � �¯ ¯ |� � �  

¬ b} m na zh a d � w e d p h ey � p � �� � |� k g� i} f g ~ � �¯ ¯ |� � �   | ` x �

¬ � x � t� �� k k d |� g ~ } m� � �� �  

¬ s s | � �a ne h k na oe b e n~ p d f �s h { �k | a d m} y d |� � � � f n s s g py q � � �� �  

•a ne h k na oe b e n~ p d f u n p dk {c �} b e h a g k m fg k mk ia ma n { �p j na b k m may e k h

g p b j me« a n {   | r k h k m me m f g k mk ia ma n { | � p i} f ny e f f | � py f { b b e nh a g � { f ne b f� �
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²´³ µ¶· u0

g p b j} ne r0 = b−Au0,

g0 = B−1r0, r0 = g0, σ = 〈r0, g0〉

¸ ¹º i = 0, 1, . . . »· ¼³½ g py oe h zey g e ¾ ¹

wi = Avi

αi = σ/〈vi, wi〉
ui+1 = ui + αiv

i

ri+1 = ri − αiwi
gi+1 = B−1ri+1

σ0 = σ, σ = 〈ri+1, gi+1〉
βi = σ/σ0

vi+1 = gi+1 + βi v
i

¶· ¾

¿À ³ ¼¶ º Á ¼³ ¹· · ¶ ¶ ¾Â

• b k nh a« Ã i { Ã oe g n p h

b} m na j ma g k na py

• oe g n p h } j dk ne f

• n � p ay y e h jh p d} g n f

Ä º ¶Å ¹· ¾ ³ ¼³ ¹· ³· ²

g = G(r) = B−1r

f nk y dk h d � u � r s

Æ a n ∼
√

cond(B−1A) ln(1/ε)

¿ ¹· µ¶ º ²¶· Å ¶ ¼¶ Â ¼

‖ ri ‖≤ ε ‖ b ‖
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A =















A11 A12 A13 A14

A22 A23 A24

A33 A34

sym A44















}

A1

}

A2

v =















v1

v2

v3

v4















}

v
1

}

v
2

w =















w1

w2

w3

w4















}

w
1

}

w
2

v | � | A k h e q } m m � ÁÅ Å »Ð »½ Á ¼¶ ¾   oe g n p h f k y d b k nh a« |

v = (v1, v2)
T , w = (w1, w2)

T , A = (A1, A2)
T k h e ¾ ³ Â ¼º ³ Ñ » ¼¶ ¾ dk nk �

s a f nh a i} na py py n � p jh p g e f fp h f P1k y d P2 | Pk ⇔ {Ak, vk, wk, v, w}�

•x k nh a« u i {u oe g n p h b} m na j ma g k na py wk = Ak · v

•ay y e h jh p d} g n σ = 〈v, w〉p h σk = 〈v, wk〉→ σ =
∑

σk

• oe g n p h } j dk ne f v = v + α · wp h vk = vk + α · wk
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A =















A11 A12 A13 A14

A22 A23 A24

A33 A34

sym A44















=





B11 B12

B21 B22



 ⇒ B =





B11

B22





Bk d da na oe � i mp g� da k z py k m | i mp g� ¡k g p ia   jh e g py da na py e h

A =





I

B21B
−1
11 I









B11

S









I B−1
11 B12

0 I





⇒ BM =





I

B21B
−1
11 I









B11

B22









I B−1
11 B12

I





BM f { b b e nh a g b} m na j ma g k na oe �q } m m i mp g� |� k } f fu � e a de m   jh e g py da na py e h
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²´³ µ¶· u0

g p b j} ne r0 = b−Au0,

g0 = B−1r0, v0 = g0, σ = 〈r0,g0〉

¸ ¹º i = 0, 1, . . . »· ¼³½ g py oe h zey g e ¾ ¹

wi = Avi

αi = σ/〈vi,wi〉 Õ ¿ Ö
ui+1 = ui + αiv

i

ri+1 = ri − αiwi

gi+1 = B−1ri+1

σ0 = σ, σ = 〈ri+1,gi+1〉 Õ ¿ Ö

βi = σ/σ0

vi+1 = gi+1 + βi v
i Õ ¿ Ö

¶· ¾

Ä Áº Á½ ½ ¶ ½

Å ¹Ð × » ¼ Á ¼³ ¹· Ø

b} m na j me k h a n~ b e na g

} y a n f Ù i e n ne h b e b p h {

k g g e f f

vk g g } b} mk ne d

v = v da f nh a i} ne d

Õ ¿ Ö
g p b b} y a g k na py j p ay n f

� mp g� da k z py k m

jh e g py da na py e h
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• jk h k m me ma b j me b ey nk na py p q n~ e i mp g� da k z py k m jh e g py da na py ay z |

y p g p b b} y a g k na py | jk h k m me m f g k mk ia ma n { de j ey d f py n~ e g p f n p q n~ e

y e g e f fk h { g p b b} y a g k na py f |

•y } b e h a g k m f g k mk ia ma n { �eÚ g a ey g {  c

y } b i e h p q a ne h k na py f o f� g p b j me« a n { p q py e a ne h k na py �

•q p h k zey e h k m f j ma n nay z ay n p m i mp g� f k y d m jh p g e f fp h fc

�� q p h m f b k m m | n~ e fp m} na py p q f { f ne b f �a n~ Bka f e« j ey fa oe |

�� q p h m ia z | n~ e jh e g py da na py e h a fy p n eÚ g a ey n�

� p ne c m→ nc B = da k z (A) ⇒g py d (B−1A) = O(h−2)� Û ¶ Ð ¶ ¾ ³ ¶ Â Ø

�� q p h m f b k m m |} fe k y k j jh p« a b k na py n p Bk |e � z� ay g p b j me ne q k g n p h a� k na py |

�� q p h m ia z |} fe b p h e eÚ g a ey n eÚ g a ey n b e n~ p d f | e � z� � g ~ � k h �

p oe h mk j jay z s s b e n~ p d f�
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u =











u1���

um











A =











A11 . . . A1m��� ���

Am1 . . . Amm











•k d da na oe i mp � da k z py k m

jh e g py da na py e h B |

• Rk Boolean . . . nk × n,
• uk = Rku |

• B−1r =
∑

RTk A
−1
kk Rk r

� mp g� f j ma n nay z u s s c

J

J

J

J

1

2

3

4

(a) (b) (c)

internal
interfaceinterface

external

Ω1

Ω2

Ω3

Ω4

ay gh e k fe p q δc

p oe h mk j jay z s s

� g ~ � k h � b e n~ p d fc

B−1r

=
∑

RTk A
−1
kk Rk r

f jlk g e de g p b j p fa na py u f} i f jk g e g p p h h e g na py b e n~ p d f



� � � � �� ��� 	 �
 � � � � �
 � � � �� � 	 �'

&

$

%

 Ü ß àá âã äå ß æç è â äé æê ç ëå ë æê ä â

ìí îïðñ ò îóñ ô<õ ö÷ ø òðù ú ï î÷ ûü ý ïþ ó ÿ ý

î ïñ ö ï û� î÷ ï ÿ ûí � îó ûñ û� � �� ÿ óñ ú ûð ï

ô ïñ ïð òí ü û ú ò óñ ÿ ��� � ì �õ ö÷ ø òðù 	 
� �

� ð ï ö ûñ ü ó îó ûñ ïð

B−1r =
∑

RTk A
−1
kk Rk r

• ì �
 � 
 ò î ÿ û� óñ � õ � � � � ï � û ú ý

ñ � ò ÿ ö÷ ó � ÷ � 	 � 
� �

• � ó ûñ ÿ � � � � � � 	 � 
� ��� �ñ î÷ ï

õ ö÷ ø òðù òí î ïð ñ ò îóñ ô ú ï î÷ ûü ÿ ��

�ñ � � �� �  �! "  # � � $ %'& (*) �+, & )  

- ) & # +  - ! .) & (*) �+ � + )  / ! �0 )1 �

2) "3 -4 �õ � ì 
 � � � � 	 ý 56

• 
 �7 ð �8 ò � � � � � ó ü í �ñ ü � 	 � 
 � � �

9 û ø òð ü ÿ ò �ñ ó: ï ü î÷ ï ûð � û� ü û ý

ú ò óñ ü ï ö û ú � û ÿó îó ûñ òí ô ûð ó î÷ ú ÿ

� ûð ï í í ó � îó ö �ð û; í ï ú ÿ �=< ð ü �  �! "'>

 # � � $ %'& (*) �+, & )  - ) & # +  - ! >

.) & (*) � + � + )  / ! �0 )1 � 2) " 3 -4 �

õ � ì 
 � � � �< ý6 	
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Y û òð ÿï � òð îó îó ûñ û� Ω

óñ î û ΩH
k ø ó î÷ ò �þ óí ó òð �

ôð ó ü û� ÿóù ï H �

Z ï : ñ ï ú ïñ î û� î÷ ï

ü û ú ò óñ � òð îó îó ûñ ø ó î÷

ôð ó ü ÿóù ï h �

[þ î ïñ ÿó ûñ û� ΩH
k ø ó î÷

ÿóù ï βH óñ î û û\ ïð í ò � � óñ ô

ÿ � ; ü û ú ò óñ ÿ Ωk �
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^ _` _a a ba cd _e c fg fh e i b fj b ` a _ k k cg l

mn op ¹q rst q ruv sw Ak ï � ô � x [ 
 ú ò îð óþ ö ûð ð ï ý

ÿ � ûñ ü óñ ô î û î÷ ï �ð û; í ï ú óñ Ωk ø ó î÷ î÷ ï 7 óð ó ö÷ í ï î � Y

ûñ óñ ñ ïð ; û �ñ ü òð � Γkð ï òí óù ï ü ; � � ïñ òí î � ÿ ö òí óñ ô û�

ü ó ò ô ûñ òí ï í ï ú ïñ î ÿ � Ak = RTk ARk ó ÿ óñ \ ûí \ ï ü óñ Ak �

mn op ¹q rst yz{ u ¹v vkóñ öí � ü ï ÿ òí í 7 � x ÿ óñ î÷ ï ÿ � ; ý

ü û ú ò óñ Ωk \ ∂ΩDirichlet óñ öí � ü óñ ô î÷ ï 7 � x ÿ ûñ Γk �

v � ø � A òð ï � �í í �|~} ¹ o r} � \ ï ö î ûð ÿ òñ ü ú ò îð óþ �

7 ó ÿ îð ó ; � îó ûñ ûñ �ð û ö ï ÿ ÿ ûð ÿ Pk ⇔ {Ak, vk, wk} � ûñ í �} ¹{ r} ü ò î ò � �

• 
 ò îð óþ ý; � ý\ ï ö î ûð ú �í îó �í ó ö ò îó ûñ wk = Ak · vk òñ ü îð òñ ÿ� ïð û� ü ò î ò î û

7 � x ÿ ûñ Γk �

• óñ ñ ïð �ð û ü � ö î σk = 〈vk, wk〉 −
∑

j in overlap

1−Kj

Kj
vk,j · wk,j→ σ =

∑

σk

• \ ï ö î ûð � � ü ò î ï ÿ vk = vk + α · wk
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| s yz t u0

ö û ú � � î ï r0 = b−Au0,

g0 = B−1r0, v0 = g0, σ = 〈r0,g0〉

� ¹v i = 0, 1, . . . n t u s} ö ûñ \ ïð ô ïñ ö ï p ¹

wi = Avi ��� �

αi = σ/〈vi,wi〉 ��� �
ui+1 = ui + αiv

i

ri+1 = ri − αiwi

gi+1 = B−1ri+1 �� �

σ0 = σ, σ = 〈ri+1,gi+1〉 ��� �

βi = σ/σ0

vi+1 = gi+1 + βi v
i

z t p

Y� ø ó î÷ òü ü ó îó \ ï

õ ö÷ ø òðù �ð ï ö ûñ ü ó îó ûñ ïð

�ñ í � í û ö òí \ ï ö î ûð ÿ v = v

òñ ü í û ö òí ú ò îð ó ö ï ÿ A

��� �
ö û ú ú �ñ ó ö ò îó ûñ � û óñ î ÿ
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 ûü ï í �ð û; í ï ú �
Ω = 〈0, 2〉 × 〈0, 3〉
− 4 u = f óñ Ω

u = 0 ûñ ∂Ω

÷�� 	 �< � �ñ � � 	 � �

Ω1

Ω2

Ω3

Ω4

δ� h 2h 3h

m H� − − −
6 	 � 	 5 	 	

5 6 � 	 � 	 �

� < 6 6 < 	 �


 < � 6 � 6 6

	 � 5 � 6 
 6 <

	6 5< < 	 6 �

2 3 4 5 6 7 8 9 10 11 12
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20

25

30

35

40

45
block diagonal/Schwarz
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� �� ��� ��� � �� � � � �� � �� � � ε = 10−4 � � �� �� � � � �� �

 � �¡ � ��¢ £� � �� ¤ �   δ = h¥ ¦ ¤� ¡ § ¨ �¡ � � � £ δ > h ©¡ � � �� ª
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Rn, Rk : Rn → Rnk (k = 1, . . . ,m), Ik : Rnk → Rn, Ik = RTk

Rn =
∑

k range(Ik)

Ak = RTk ARk

ì ; ÿ îð ò ö î ÿï î îóñ ô ý: ñ ó îï ü ó ú ïñ ÿó ûñ òí � óí ; ïð î ÿ � ò ö ï V

V = V1 + . . .+ Vm

V, Rk : V → Vk (k = 1, . . . ,m), Ik : Vk → V, Ik = RTk

Au = b , u ∈ V, b ∈ V ′, A ∈ L(V, V ′)

Aó ÿõ � 7 ↔ 〈Au, v〉 = 〈Av, u〉, 〈Av, v〉 > 0 ⇒ 〈u, v〉A
Ak = RTk ARk

• òñ òí � ÿó ÿ óñ î÷ ï x [ ÿ � ò ö ï ÿ �

• óñ \ ï ÿ îó ô ò îó ûñ û� 7 7 òñ ü û î÷ ïð ü ï ö û ú � � �7 ó 7 � óñ ò �ñ ó ¯ � ï �ð ò ú ï ø ûð � �
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G : r 7→ g, g ∼ A−1r (pseudores.)

g = 0

� ±v k = 1, . . . ,m

g ← g + IkÃ
−1
k Rk zk

z t p

²³ ³´ µ´ ¶· ¸=¹ º»¼ ½ ¾¿ À¿¼ ½ º¹ GAÁ

zk = r, k = 1, . . . ,m

Â ÃÄ µ´ Å Ä´ Æ ² µ´ ¶ · ¸ ¹ º»¼ ½ ¾¿ À¿¼ ½ º¹

GMÁ

zk = r −Ag

Ç ÈÊÉË ´ ³ ¸=¹ º»¼ ½ ¾¿ À¿¼ ½ º¹ GH Ì ºÍ Î Í Á

zk = r k = 1, . . . ,m− 1

zm = r −Ag

Ãk ∼ RkAIk = Ak

Sk(z) ∼ A−1
k z

ïþ ò ö î
óñ ïþ ò ö îÐÏ í óñ ï òð

Ï ñ ûñ í óñ ï òð

ÿ � ú ú ï îð ó öõ 7 �ð ï ö ûñ ü ó îó ûñ ïð

ñ ûñ ÿ � ú ú ï îð ó ö

ÿ � ú ú ï îð óù ò îó ûñ
k = 1, . . . , m− 1, m, m− 1, ..., 1
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U �ê � S Ò X ë X Ó V = V1 + ... + Vm

• ì ÿ ÿ � ú � îó ûñ ÔÕ � ÿ î ò; óí ó î � � ∀v ∈ V ∃vk ∈ Vk : v = v1 + . . .+ vm
∑

k ‖ vk ‖2A≤ K0 ‖ v ‖2A �

• ì ÿ ÿ � ú � îó ûñ ÔÖ ∀v ∈ V ∀vk ∈ Vk : v = v1 + . . .+ vm

‖ v ‖2A≤ K1
∑

k ‖ vk ‖2A �

• × ± u zØ 9ð ó \ ó òí ; û �ñ ü K1 = m �� û î ïñ îó òí í � ú ýóñ ü ï � ïñ ü ïñ î ; û �ñ ü ÿ �

�� E = (εkl) , εkl = cos (Vk, Vl)A � î÷ ïñ K1 ≤ ρ (E) ≤ max
∑

l εkl �

�� E0 = (εkl : k, l 6= j) � î÷ ïñ K1 ≤ 2 (1 + ρ (E0)) .

• ÙÚ z ±v z q Ø � ï î ì 	 � ì 6 ÷ ûí ü � 9 ÷ ïñ
λmin (GAA) ≥ 1/K0 � λmax (GAA) ≤ K1 � ö ûñ ü (GAA) ≤ K0K1

‖ I −GSA ‖A=‖ I −GMA ‖2A≤
(

1− 1
K0(1+K1)2

)2 �

Û ÜÝÞß àáâ ãåä æ çß è â é ÜÞê ë á à ëì íîï ãåð áß â Þ ì íî î ãåñò éó Ü ãõô á ö÷ øâ ö ì í îù ãì íî í ãåúò Ü è û÷ æ ãåü ÜÞê á Ü à ã

ô Üâ ý ãåþ øì í íì � ú óÿ ò Þ Ý Ü ö ã Û Üâ ö æ÷ ì í íì
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h
H

overlap

Ω = Ω1 ∪ . . . ∪ Ωm� �� 	�
 �
� � �� Th

�� �� �� � δ = ¾¿ � À (∂Ωk ∩ Ωl, ∂Ωl ∩ Ωk)

��� 
 �� � �
 � �� � H = max ¾ ¿ �� (Ωk)

δ = βH, H→ 0⇒ δ → 0

Ωk → Vk = {v ∈ Vh : v = 0 ¼ ½ Ω\Ωk}

• �� ¢   �� � � � �� � �� � � � � � θ1, . . . , θm
∑

θk = 1� � Ω

θk ∈ C∞
(

Rd
)

, θk = 0� � Rd\Ωk

‖ ∇θk ‖L∞(Ω)≤ c/δ
• �� ¢ � � �� �  � ¤ � � �� � Πh : C (Ω)→ Vh

⇒

• Vh = V1 + . . .+ Vm £ v ∈ Vh ⇒
• v =

∑

kvk, vk = Πh (θkv)

• K0 = C
(

1 + δ−2
)

• K1 ≤ ρ (E) � �� �  *� �� � � � � � �

� ! " (GAA) ≤ C
(

1 + δ−2
)

, � �¡ ¢
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Ω = Ω1 ∪ . . . ∪ Ωm

Vh = V0 + V1 + . . .+ Vm

V0 = {v ∈ V : v |T∈ P1 ∀T ∈ TH}

H ≤ H B CEDF GH IF I HJ KF LF G MON HN H = H

v ∈ Vh ⇒ P� Q v0 = Qv ∈ V0

(1) | v0 |H1(Ω)≤ c1 | v |H1(Ω)

(2) ‖ v − v0 ‖L2(Ω)≤ c2H | v |H1(Ω)

RS T U PS VW PX Y[Z \ B Y[] \_^ S P` ^ aW b Wc Q

W X L2d TS Ve T f Tg^ a US T h Pi VW Tg Tg V T

V0 Y[j S^ k l a P Bnm o Z p p Z \

• v ∈ V ⇒ v = v0 + v1 + . . .+ vm

• v0 = Qv, vk = Πh (θk(v − v0))
• K0 = C

(

1 + δ−2H2
)

• K1 ≤ 2(1 + ρ(E))
� ! " (GAA) ≤ C

(

1 + δ−2H2
) B P Vi Q



#$ %'& () *,+- #. / % $ 0 %1 243 ( () 5 3 3'

&

$

%

< ;q : = @ @>? r @q ;� 7? � > A> 7? ;q � s � 7 � ; : @q 7t : ;u

v wxy z {�| w} zy ~�
Ω = 〈0, 2〉 × 〈0, 3〉

− 4 u = f W g Ω

u = 0 Tg ∂Ω

e4� Z ���� B g � � Z� �

Ω1

Ω2

Ω3

Ω4

δ� h 2h 3h h 2h 3h 3h 3h 3h

m H� − − − 1
15

1
15

1
15

1
15

1
5

1
4

� � � �� � � � � � � � �

� � � � � � � � � � � � � � �

� � � � � � � � � � � � � � �

� � � � � � � � � � � � � � �

� � � � � � � � � � � � � � � � �

� � � � � � � � � � � � � � � �

� o k l PS X Tc W V PS^ VW Tg X c TS ε = 10−4 � W Ve ^ b b W VW` P

US P i Tg b Q B T` PS a^ U δ = hd j a T i� �^ i T l W B δ > h � i e �^ S�
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6 798 : ;< ; : � 7 u =>? � ;� 7 u @ 7� > A> 7? 6 > A� = r r q ; r = A> 7? �

Ω = Ω1 ∪ . . . ∪ Ωm

Vh = � � �� {

φh
i

}n

i=1

{1, . . . , n} = J1 ∪ . . . ∪ JN ,
 � � � � �
 �

V0 = span {ψi} , ψi =
∑

j∈Ji

φh
j

c1H
d ≤ | �� � � ψi| ≤ c2Hd � H ≤ {H, kh}

Q : Vh → V0 B Qv =
∑

αk (v)ψk

αk = 1
µ( �� � � ψk)

∫

�� � � ψk

u (x) dx

� � �
 

• | Qv |2H1(Ω)≤ cHh | v |2H1(Ω)

• ‖ v − Qv ‖L2(Ω)
≤ CH | v |H1(Ω)

¡£¢ KF ¤F ¥ ¥O¦ §¨ H© F I H § L ¥¦ § ¥ K¦ I M ª
• Vh = V0 + V1 + . . .+ Vm

• v ∈ V ⇒ v = v0 + v1 + . . .+ vm

• v0 = Qv, vk = Πh (θk(v − v0))
• K0 = C

(

1 + h−1H + δ−2H2
)

• K1 ≤ 2(1 + ρ(E))

� ! " (GAA) ≤ K0K1 B P Vi Q

«¬ ­® ¯° ­± ²³´ µ± ²³ ² µ «¶ ­ ¯· · ± ² ²¸ µ¹ ­º »¼ µ½ ­º ¾ ¯¬ µ «¶ ¯¿À º ­± ² ²´ µ «¶ ¯¿À º ­± ² ²Á µÂ ¯º ¼ À º · ¯° ­¬ÃÄ Å Å±
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Ω̄ = Ω̄1 ∪ . . . ∪ Ω̄m � Ωk ∩ Ωl = ∅ Ë � � k 6= l

Ωk → Vk : εkl = cos (vk, vl)A = 0c TS k 6= l

V1 + . . .+ Vm = W 6= Vh

V0 . . . l � i T^ S X P VS W^ g f o a^ VW Tg TS l �^ f fS P f^ VW Tg X

� W V e k W X X W g f'Ì ÍÎ ⇒ Vh = V0 +W,

R0 : Vh → V0 W g V PS U T a^ VW Tg V T g T b P X Tc T H TS

X P a P i V P b g T b PX c S T k Jk

Rk : Vh → Vk, Rkv(x) = v(x)c TS g T b PX c S T k Ωk

v ∈ Vh → v = v0 + v1 + . . .+ vm

v0 = R0v, vk = Rk (v − v0)

Vh = V0⊕W0, W0 ⊂W, W0 =
∑

Rk(I−R0)Vh

γ = cos (V0,W0)A
K0 = 1/ (1− γ) , K1 = 1 + γ
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Ï ÐÑ Ò ÓÔÕ Ò Ô Ö × Ñ Ø Ò ÙÕ Ú Û Õ Ð ÚÑ ÜÝ Ü Ü Ò Ô Ó

V0 W0

1
2 2

1
3

4

γ = Þß à

{

a(v,w)√
a(v,v)

√
a(w,w)

: v ∈ V0, w ∈W0, v, w 6= 0

}

a (v, w) =
∑

E

aE (v, w) =
∑

E

∫

E

〈D∇v, ∇w〉 dx

γ = max γE áãâ ä åæ æ çè é åæ ê çèë ìí çî ìí è ï çð çî ç æ ê

ñò óy |ô õöy � v ∈ V0(E)→ ∇v = (δx, δy) W g T1, T2.

w ∈W0(E)→ ∇w = (dx, dy) W g T1,

∇w = (dx, −dy) W g T2 B ∇w = 0 W g

T3, T4. ÷c D = ø å ì ù ú kx, ky] B V e Pg

aE (v, w) = 2kxδx dx ∆

aE (v) ≤ 2kxδ
2
x ∆

aE (w) ≤ 2(kxd
2
x + kyd

2
x)∆



















⇒ γE ≤
√

kx

kx+ky
.
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 È 7? É A =? A 8 >? ? ;q u =È q 7 ; : ;u ;? AÉ

�^ W VS P B � o X � Z p� Z �

γ =
√

1/2 Ë �� � � �� � � � � �� � ��� � � � ��

� � � � � �� � �  "! � �� �� �# �� � � � mp = 2 $

m=3

• mpc T a b S P% g P k Pg V&

•^ g W X T VS T U W i '^ U a^ i W^ g

• f Pg PS^ a P a^ X VW i W V � ci,j,k,l&

•^ S l W VS^ S � P a P k Pg V X e^ U P

γ ≤
√

m2
p−1

m2
p

() P aX X Tg B+* j ]� � Z

m3
p V P VS^ e P bS^

10

7 8

1 2 3

6

9
x

x

3

2

1

x

4 5

γ ≤
√

1− 2
m4

p+m2
p

,- .� / / 0 1 12
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• 5 ï è Akí ï è è ç Þ à ï æ ø åæ ù ê ï Þß 6 ø ïî ì åæ á87 ç Þß í í ç Þ Þë ß ð 9 è ç à ð ìí ç Ak 6 9

åæ í ïî à ð ç ê çë ìí ê ï è å: ì ê å ï æ ;

• 5 ï è í ï ì è Þ ç ù è å ø Þß 6 à è ï 6 ð çî A0 á ê< ç Þ ìî ç Þ êè ì ê ç ù 9 å Þ åæ ç= í å ç æ ê ;> ï è ç

ìí í ß è ì ê ç ì à à è ï? åî ì ê å ï æ ê ï A0 å Þ æ çí ç Þ Þ ì è 9 á ç ; ù ; 6 9 åæ æ çè @ AB

å ê çè ì ê å ï æ Þ ;C < ç æ ê < ç à Þ ç ß ø ï è ç Þ å ø ß ì ð å Þ g = G(r) 6 ß ê G å ÞD EF GHD IJK ;

• L ê í ì æ 6 ç ø å= í ß ð ê ê ï í ï æ Þ êè ß í ê A0 ì æ ø Þ ï ð M ç ê < å Þ Þß 6 à è ï 6 ð çî åæ ì ê åî ç

í ïî à ì è ì 6 ð ç 7 å ê< ê< ç Þ ï ð ß ê å ï æ ïë Þß 6 ø ïî ì åæ à è ï 6 ð çî Þ Ak ;C < ç æ å êî ì 9

6 ç ì ø M ì æ ê ì ù ç ï ß Þ ê ï ß Þ ç < 9 6 è å ø ì ø å ê å M ç äî ß ð ê å à ð åí ì ê å M ç ì ð ù ï è å ê< î �

N í ï ì è Þ ç ù è å ø í ï è è çí ê å ï æ å Þ í ïî à ß ê ç ø åæ ø å M å ø ß ì ð ð 9 á

N è ç Þ å ø ß ì ð å Þ ß à ø ì ê ç ø ì æ ø Þß 6 ø ïî ì åæ à è ï 6 ð çî Þ ì è ç Þ ï ð M ç ø å æ à ì è ì ð ð çð ;

C < ç < 9 6 è å ø ì ð ù ï è å ê< î ù å M ç Þ g = G(r)7 å ê< Gð åæ ç ì è Oë ï è ð åæ ç ì è Þß 6 à è ï 6 ð çî

Þ ï ð M ç è Þ P 6 ß ê æ ï ê Þ 9î î ç êè åí ; C < ç Þ 9î î ç êè å: ì ê å ï æ å Þ è çð ì ê å M ç ç? à ç æ Þ å M ç ì æ ø

æ ï ê æ çí ç Þ Þ ì è 9 á ì æ ì ð ê ç è æ ì ê å M ç å Þ D ED Q RTS S IFK HU VK IU ED W H F H ED IK 7 å ê < B @ AB ;
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YZ Z [\ ] ^ [\ _ ^ ] ` Z a b c a dfe [ ^g `h

ù å M ç æ u0→ r0 = b−Au0, g0 = G(r0), v0 = g0

i jk i = 0, 1, . . . lm nop ‖ ri ‖≤ ε ‖ b ‖ q j

wi = Avi

αi = σi/〈wi, vi〉
ui+1 = ui + αiv

i

ri+1 = ri − αiwi

vi+1 = gi+1 = G(ri+1)

i jk k = 1, . . . ,min{i+ 1, s} q j
β

(k)
i+1 = (〈gi+1, ri+2−k〉 − 〈gi+1, ri+1−k〉)/σi+1−k

vi+1 = vi+1 + β
(k)
i+1 v

i+1−k

rm q ⇒ σi+1

rm q

st nk uv

s− 1× M çí ê ï è Þ ê ï è ì ù ç

ri, ri−1, . . . , ri+2−s(r0)

s× å æ æ ç è à è ï ø ß í ê Þ

〈gi+1, ri+1−k〉,
k = 1, . . . ,min{i+ 1, s}

5 ï è Þxw yz ï æ ç ç? êè ì

å æ æ ç è à è ï ø ß í ê
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� ��� � �T� �� �� ��
Ω = 〈0, 2〉 × 〈0, 3〉

− 4 u = f�� Ω

u = 0 �� ∂Ω

��� � ���� �� � � �� �

Ω1

Ω2

Ω3

Ω4

�� ��� � � � � � ¡£¢¤ ¥¦ �§ ��� ¢ ¨ � © ª �� � « � ©

� �¬ � � �¢ � ­ �� ¦ �� � « � � � � � � �®

¬ ¯ ­ �� ¦ ° � � � �+± ² ® ® ª ª ® ª

¬ ¯ ­ �� ¦ ° � � � � ° ² « « « « « «

� ­ ­ � � ­´³ � � �+± ² �� �� � � � « �® �®

� ­ ­ � � ­³ � � � ° ² µ �� � � � � � � � �

�� ¶ � �· �¬ � ¸ � ­ ­ � � ­´³ � � �± ² �� � © � © � © y¹ � ©

�� ¶ ��· �¬ � ¸ � ­ ­ � � ­´³ � � � ° ² ® ª ® ª º ª

»¤ § ¥ � �¢ �· � ¶ �� � ¶� �� ¢ · � � ε = 10−3³ ± ² � �¦ ¦ � ¶� � �

� � �¬ �� ¦ � ¶� �� �� � ° ² � � ¼ ¥ �� ¦ � � �¬ �� ¦ � ¶� �� � � ½¾ ² ¿¾ À � Á
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−4 u = 2π2sin(πx)sin(πy) in Ω = 〈0, 1〉2 and u = 0 on ∂Ω

Î ÏÐÑ Ò yz ÓÔ ÒÕÑ Ï Ö β = 1/6 ×

ÏØ ØÙ Õ Ï Ø Ú ε = 10−4 × ÛÝÜ Ò Ò

Þß Ù àTá âß ã Õ Ò Ï Ü äå Ò ×�æ ß åç

è ÜÑ Ó × é ê ê y ë

Î ÏÐÑ Ò é z

àì Ó áÑ ÒÔ ÒÑ í Øî ì Ï Õï Ö Õ ÒØ Óß á

ãå àå Óß ÒÕ Ü
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ð ñ ò´ó ôõö ÷ øù úùö ÷ ô ó û�ü ý þ ôö ú ôõÿ ÷ù õ ý� ò´óö � � ô� �

�� ��� 	 
�� 
 �� 
 �� ���� � �� � ��� �� ��� �� 	�� � �� � �� 
� �� �� 	 �� � ��

�� 	 � � �� � � 
 � 	   � �  	 � �� 
�� � � � �� � �� � �� ! "# $ � � 
 ε0 = 10
−1

.

% �� � � & � � �� 	 � � �� � �' �  
 � � � � � �� (� ) �� � *+ , �

-

.
/ 0

12 354 6 37 3 6 89 1 4 6 37 3 6: 3 8; 1<

=?> @A <B : 3 8; 1< 3x3x3 6x6x6

C D C E F FG

H I J C E K G J

E I I J F I G E

G I C I F F K J

K I C F F K K C

L I C L 4 4

12 3NM 6 37 3 6 8 9 1 4 6 3 7 3 6: 3 8; 1<

: 3 8; 1< 3x3x3 6x6x6

H LG CG K C E C

C L D C E I I K F

C E C C E J I E F

I D J C E E I I F

I K J CG F I I I

IG I 4 4



ûü ý'þ ÂÃ Ä�ÅÆ ûÇ È ý ü É ýÊ Ë�Ì Â ÂÃ Í ÅÌ'

&

$

%

O P� QR ST UR R PV |XW U} P T YZ SZ P T U W R ~ [ T Z R P SW P | \

� ��� � �T� �� �� ��
Ω = 〈0, 2〉 × 〈0, 3〉

−kx ∂
2u
∂x2 −ky ∂

2u
∂y2

=

f�� Ω

u = 0 �� ∂Ω

��� � ���� �� � � �� �

Ω1

Ω2

Ω3

Ω4

δ C ; ] => @ A <_^ > ` E L IG

2 1a 1bc > 3 dc e< IG 8
27

4
26 C C 10

37
4
38 H I 14

52
5
61

a M dc e< fg H ; ]ih K 7
10

7
16 L 7

10
7
20 K 7

11
7
26

a M dc e< f g H ; ] f G 6
8

6
13 G 6

8
7
16 G 6

10
7
22

b d dc 3 dB C ; ] h I H 10
16

8
19 I F 12

16
8
23 I K 13

19
9
30

b d dc 3 dB C ; ] f I J 8
11

7
15 I I 9

12
7
19 I I 9

13
8
25

ejB k b d dB C ; ] h I E 11
14

8
22 I E 12

16
8
30 lm 12

19
9
40

e jB k b d dB C ; ] f L 6
8

4
14 K 6

9
5
16 n 7

10
5
22

»¤ § ¥ � �¢ �· � ¶ �� � ¶� �� ¢ · � � ε = 10−3³ ± � �¦ ¦ � ¶� � �

� � �¬ �� ¦ � ¶� �� � � � ° � � ¼ ¥ �� ¦ � � �¬ �� ¦ � ¶� �� �� ½¾ ² ¿¾ À � Á³

¿ ��¤ § � ¢ ¨ o � p� � ¢ � ¶� � � ¼ � o� p� kx/ky=10
kx/ky=0.1 � o� p� kx/ky=100

kx/ky=0.01³
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� ��� � �T� �� �� ��
Ω = 〈0, 2〉 × 〈0, 3〉

∂u
∂t −4u = f

u = 0 �� ∂Ω

��� � ���� �� � � �� �

Ω1

Ω2

Ω3

Ω4

w 7 3c 6b x C ; ] => @A <_^ > ` E L IG

2 1a 1b c > 3 dc e< IG n y C C z y H I l y y

a M dc e< fg H ; ]h{ K n m L n m K l | }

a M dc e< f g H ; ] f{ G n y G n G l | m

b d dc 3 dB C ; ] h{ I H n } I F n } I K l | }

b d dc 3 dB C ; ] f{ I J ~ I I n I I n

e2 8 3c jB k b d dc B C ; ] h{ I E z } I E l | } lm l | }

e2 8 3c jB k b d dc B C ; ] f{ L } y K } y n } y

»¤ § ¥ � �¢ �· � ¶ �� � ¶� �� ¢ · � � ε = 10−3³ ± ² � �¦ ¦ � ¶� � �

� � �¬ �� ¦ � ¶� �� � � � ° ² � � ¼ ¥ �� ¦ � � �¬ �� ¦ � ¶� �� �� ½¾ ² ¿¾ À � Á³

¿ ��¤ § � � ¨ § � ¶��� K �¬ ��¤ § � ¢ � �� ¨ § � ¶��� M + ξK

�� ¶ � ξ = h, h2 � � �¢ � �¬ ¶� � �� ¼³
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�� �� � � �X�� � � �� �� �

�?� ��� ��� � � � ���� �5� � �   �� �¡ ¢� � � £ £� � �¤ � � ¥ � £ � ¥ � ¢� ¦ ��  � £�� � §©¨ª � � ¥�� �

�� � ¢� � ¥� £�� � ��   �� ¥ ¢� �   £� ª ¢ £�� � � ¤ � �� � � �� � � � �� � � £« ¦  ¬ � £« �   ¦ � � �

� ¦� ª � £� ¤ ¢� ¦ ¦ª � � ¢ � £�� �  

�?� � £« � �¡ ¢� � � ¢ ­ ¢ �� ¨ �  ª ¨   £ �� £� � � � ­ � � ¢� � �  � ¥ ¨ ­ � ¥ ¥� � � �� � ª � « � �� ¨ � �

�� � ¨ �� ¦ §¬ « � ¢ « ¢ �� ¨ � ¥ �® � � ¥ ¨ ­ ¢� ��  � �� � ¥� � � � �� � � � £�� �  

�?� � £« � � � �   � � �� � � £ ­� ¤ � � ¦ � £« � ¥  ¯ � ��� � � � §� �   £� ¥ °� � � ±� �   £� ¥ ¢� ��  �

�� � ¥ §  � ¦ � �� °   ¦� � £« � ¥ � � �� � � � £�� �   §³² ´ µ �� ¥ ² ´ µ¶ · § � £ ¢¸

�?� � � � ¬ ¹º ² ¬ � £« � � £� � ¤ � ¢� ¯ � � ¨ª   £� �     ¬ ¸� ¸ £¸ ¢� � ¡ ¢� � � £ »ª ¦ �   ¨ � £¬ � � �

¦ � ¢� � � �� ¦ � � £   §� � ¢� ¦ ¦ª � � ¢ � £�� � ¨ � £¬ � � �  ª ¨ ¥� ¦ ��� �� � ¨ �� ¦   � �

�� � ¢� � ¥� £�� � �� � § �¡ ¢� � � £ « ­¨ � � ¥ �� �  �� � § ¢ �� �� ¼ª �� £� £ � £� �� �� � � ­  �  

�?� � �� �½ � ¢ £  ª ¨ ±  � � ���   § �ª £� ¦ � £� ¢ � �� £� £�� � ° � � �� � � ¸ ¾� � £¿ � À   ­   £� ¦   Á

�?� Â �� ¢� � �  � � ¤  ª ¨ �� � ¨ �� ¦   ¥ª � £� � �� � � � � § ¥ � ¢� � �  � � ¤ �¡ ¢� � � ¢ ­ ¥ª � £�

�� �  � £� � � ­
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� � � � � Ò � �Ó �

•� �� � � � � ��� � �5� � ± ¢ �� ¨ � � � � �� � ¥ £� � £« � � ¢ � �    �  � ¤ �� � ¨ �� ¦  

¾� � �   ­ ¦ ¦ � £� � ¢ § � �� �¨ � �� ¢ §   � ¥ ¥ �� �� �� £ � £ ¢ Á § �� � � �   ­ £� � ¦ � �� ¦ � � £ §

�� £� � £� � � ­ ¤ª � � ­ � � �� ¨ � �� ¢ � � ¾¨ � � ¢Ô ¨ � ½ Á §

• £« � � � �� � � �  � � £« � � ¢ � �    �  � ¤ � � � � �� � � � � ��� � �5� � ¦ � £« � ¥   « �� ¥ �� � �

£« � � � £� � ¤ � ¢� £« � � ª � « µ ¢ «ª � ¢� ¦ � �� ¦ � � £� � Õ � �� �� �� �� ¦ª � £� � �� ��  

¾×Ö �ª ¦ �� � ± Ö �ª ¦ �� � §�Ø ÀÙ Ú Á §
• £« � � � �� � ¦ �� ­ ��    � ¨ �� ¥ � ¢� ¦ ��  � £�� �   §¬ « � ¢ « ¢ �� ¨ � ª  � ¥ ¤� �

�¡ ¢� � � £ � �� � � �� �  � � �� �  ¯ ¨ �  � ¥ � � � § � �  � ¢� ¦ ��  � £� �� � ¥ Ø ÀÛ § ¶ Ü

¥ � ¢� ¦ ��  � £�� � § ´ Û Õ Ú §� �� � £ ¢¸

•� £ �   ��    � ¨ �� £� ¢� ¦ ¨ �� � ¥�Ý �� � � £ ¥ � ¢� ¦ ��  � £�� �   �� ¥ ¥�Ý � � � � £

¾ � ¥ ¥� £� �� ° ¦ª � £� � �� ¢ � £� �� Á � � �� � � £« ¦   §

• £« � £¬ � ± �� �� � ¢� � ¢� � £ ¢ �� ¨ � ¥ � �� �� � � ¥ £� ¦ª � £� ± �� �� �� � � ¤� � ¨ � £ £� �

¨ � � �� ¢� §©¨ � £ £� � � ¡ ¢� � � ¢ ­ �� ¥ ¥ � �� �� � ¦ � � £� ¤ � � £� ¦ � �  � � �� �  ¸
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